A B C D E F G H | J K

packet/fragment size (high - large)

1 Sensor: BattLevel Procldle RamUse SignalStr BER: PktLossRate! Interference Multipath ConnLoss Throughput
2

3 |Knob:

4 |transmission power (high)

5 |" (low)

6 _|transmission freq. (high)

7 1" (low)

8

9

" (low - small)

compression (high)

" (low)

transport protocol (hi - large window),

" (low - small window)

error correction (high)

" (low)

routing algorithm (high - fast update)

" (low - slow update)

queueing retention (high - no drops)

" (low - low priority drops)

encryption level (high)

" (low)

caching (high - on)

" (low - off)

soft state degree (high)

" (low)

directional rf transmission (high)

" (low - nondirectional)

casting specificity (high - uni)

" (low - broad/multi)

Sum 0 0 0 0 0 0 0 0 0 0

Notes: 1. The sum S of each column must be such that 50 <= S <= 200

2. If the knobs (as currently set) have values in the columnithat sum to >= 50, the sensor reading is good; it is bad, owise




